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seratant & ferd frde
Instructions for the candidates :

1 et ware st et el €
Candulates are required to gie ther answers in ther own words as far as
pructuwable

2. gt s el or g o e qeilE fAfve e
Funires in the nght hand margen indicate full marks.

3 W gV 1 VI Yaw WE & 8T 15 Az e s e Ra e b
15 minutes of extra lime have been allotted for the candidates to read the questions
carcfully.

4. GF wEed o avsi i & — avy-¥ 04 avy-u)
This question paper ts duaded into two sections — Section-A and Section-B.
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o gug.sy i eowwgfre e & formi @ e 50wyt w1 Fav & sfvard 1 gy
& s weat & I & @ e 50 I H gl i e GR1 [6u sm,
yiE QET & fev xahrﬁmffm#am?mﬁsvﬁwwr#fr#om IW UTF 3
M?mm?wrﬁ#/mﬂhh#mﬁfﬁﬁtﬁm*m,
rer wand /W ) A A T OMR IAT-GIRTHT § TAT T T, Sy

gt froTT AT R
In Section-A, there are 60 objective type questions, out of which any 50 questiong

are to be answered. First 50 answers will be cvaluated by the computer in case
more than 50 questions are answered. Each question carries 1 mark. Darken the
circle with blue / black ball pen against the correct option on OMR Ansiwer sheet
provided to you. Do not use whitener / liquid / blade / nail etc. on OMR-shest,

otherwise the result will be !nmll&.

6. @vg-¥ i 27 &g Iadw wyq &, fd & et 1s weAt & v dr afvard
g/iE §v & fav 2 dw it &1 7 sfafts, g9 avs ° g 3 Iadie wv R

mt & ot @ fot e wvAt &1 3a7 3w &1 97 9 & fav s i fifo &
In Section.B, there are 27 short answer type questions, oul of which any

15 queslions are to be answered. Each question carries 2 marks. Apart from (his,
there are 8 long answer type questions, out of which any 4 questions are to be

answered. Each question carries 5 marks.

7. [l SR & gelagita® YT FT QT qUiaar afd &1

Use of any electronic appliances is strictly prohibited.
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™WvE - N / SECTION - A
aWfa U¥T / Objective Type Questions
mmlﬂmmtmtmwﬁm&qwtﬁwﬂﬂwuﬂhﬁﬂﬁ

soﬁ%muﬁmqﬁwuﬂﬁﬂﬁonntﬂzwﬁ:ﬁmﬂl
80«1 =50

Question Nos. 1 (o 60 hawe four options, out of which only one is correct. Answer anly

50 questions. You have to mark your sclected option on the OMR-Shevel. 50«1 =50
1 Cot(90% - A=
7 _a

(Al cotA LB tanA

(C)]  sinA 0) il A T A€/ none of these
2,./ 3w

(A) sl (B) WA wWem

~{C)— ety wa (o) ¥ A Wi

JS is 0

(A) Rational number (B) Natural number

(C)  Irrational number (D) nonc of these

3. g cusccﬂ-‘flﬂ ﬁ'. | sccl=?

3 Jio
(C)  « i _ ID,_.-F--"__?___
Jio Jio
If cosec0 = /10, then scc is cqual to
8, Jio
w7 ®
1 2
C e D —
“ e N T
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) oS & & fams &
4, Tagd Rix.y,) M S(x,.y,) w fiecTF Tl el

(A) o £t B |72 ' 2
- a2 |

© |HZfa Y-4;) (D)~ (x) + 3.4 * Y2}
2 ' 2 """'

The coordinates of the mid-point of the linc scgment joining the points R{x;.y)

and S(x;,y,) is

( \ X, +Xy Yy *Y,
X vy X+, B } -3 J )
L o B ; (B) [ 2 2
(v - )
€ X = Xy .y.’l Y, (D) “l + xz'yl + Y, )
. 2 2
s g1 fiw Fremait amet gw ot €t & ‘
A)  watTER ~ (B T
© waTEn 3N wHEy D) ¥ R FHE A
Two circles of different radii are always
{A)  congruent (B) similar
(C)  congruent and similar (D) nonc of these
tan49*
© cotars -
A} 3 | (B 2
‘\(E]/,-l (D) 6
Ty Wi 2, 7,12, 17, .. & T ayp -a, 1 9F & (T o, WHIR o0 H
n @1 9% &1)
(A) 100 (B) 10
50 (D) 20
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The value of a, - Ay forthe AP 2,7, 12,17, . (where a_ denotes the nth
Wwrm ol AP )

(Al 100

m 10
i1 %0 o 20
} U 6 2 ; .
5, e agwe 2, +St-12 % 7w b
3
A) [4.5] (®) -4.%)
i -
. 54
Iy [-3.3] @ (-3.4)
The zeroes of the polynomial 2x? « Sx-12 are
3
A 42 -4 3
W (3) (B) [4.2)
. 34
@ (-3.4) D) (-3,4)

o T3 d siw @) wm g A e b )

(A) 25 ~JBr~ 30
iy 32 D) 36
How many two-digit numbets are divisible by 3?
(A} 25 (B) 30
i 32 (D) 36

IU/ ufz nn.&-%ﬁ,ﬂ‘? cot A &1 °E §m

w (B) -:%
9 LI
Il sinA = —, then the value of cot A =
W x ® Iz
o L2 o 5%
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t k¥R o2 & ey mdm frew drekyet, 2u-dy=? e

W &
IR\ -2 B
) 8 o> 2

For whxh value of kK will the wyatem of equations {(tky-ﬁ. ix-4y =] '“‘

many solutons ?

N -2 B -8

< 8 oy 2
12w A 6, 13, 20, LN E MR

A 118 ® 104

NISSEE T D) 125

The muddle term of the AP, 6. 13, 20, ... 216 is

w18 B 104

Q1 O 125
13 "6 s wgat

a6 @ -5

Q-6 D S

The x-coordinate of the point (6,-5 ] is

A} 6 = B -5

Q06 D 5

14 sect60°-1F S

a2 ® 3 ,
Q4 o~ o
Value of sec? 60° -1 is
(A} 2 M 3
< 4 D o
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15, Uik (7 + S o 8) & 06 o 10 A (o pper

{M 5 u‘m/ -5

€1 8 D) -8

If @ and P are zeroes of (x? +5x4 8) then (a ¢ ff)=?

A} 5 B) -5

() 8 (D) -8

16 uis farel wafeang fngr s b ot T o 0 B, ) T rwEE

J3

N a2 |) Srbee

©  3V4a?-p? (D) ————"“"":""2

If an isosccles triangle has base b and equal sides a, then its arca will be
V3 2 a+b+c

A Za (B) .

b!’ 2_32
[C, % ‘ha! - bg lD’ —%—_-_b_

17, TS W x - 2y =31 3x+ ky = | T QF HEHT 6 A, @

A) k=-6 : B) k=u-6
(C) k=0 (D) k=0
If the equations x-2y =3 and 3x+ky =1 have an unique solution, then
(A) k=-6 ,.@/k_un-a
(C) k=0 ' (D) k=0

18, faell AR # Fard 10 m &1 AT F I B} 450 R, A =R @ o B
#vT$ A 9T e 2

(A) Sm B) 8m
(C) 7m —{D}— 10m
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hen the angle of clevation of the sun 1s 45¢,
C

The height of a tower 13 10 m. W
o he gruund?

what will be the length of the tower's shadow on 1
Al S5Sm (B) 8m

) 7m (D) 10m

19 fmﬁ:qq&;&;;ﬂsmgﬁqﬂfazsdﬂqﬁﬂﬁ.ﬁﬁmmmmm
4un§ﬁﬁqﬂaaﬁ?ﬂ&

(Al 7cm (B ©6cm

(€} 3cm (D) 4cm

The length of a tangent to a circle from a point A at a distancc S cm from the
centre of the circle is 4 ¢m, then the radius of the circle is

(A} 7cm B) 6cm

), e (D) 4cm

20, @ E W U Wm0 T 2 wE § S e W 0@ § T FH R

vig®a & 2
1 1
W 3 N
1 2
(€ 2 (D) 3
Two dice arcthrown together. The probability of getting the same number on
both diccis
1 1
(A) 3 (B) ry
| 2
23 sccl=7?
cos0 |
(A) sin0 (B) =%
1 sin0
o = () 09
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22 R 3con02 @, 7 (2scc? 0+ 2tan? 0 - 7) W1 WA A
(A) 0 B 1
< 3 (D) 4
Il 3cos0 =2, then the value of (2scc?0+2tan? 0-7) will be
A0 B) 1
€y 3 D) 4
23, f&at wem E % ufza &7t ® wiawa p( £) w1, @ Freifes § o @@ 2 2
(A} P(E)<0 B) P(E)>1
(€} -1<P(E)s] P 0<P(E)s)
If the probability of occurrence of an event E is P { £), then which of the
following is correct ?biharboardquestionpaper.com
(A) P(E)<O B) P(E)>1
(C) -1SP(E)s] D) 0sP(E)s1
29, WR P -un-3FIE IR E?
(A} 3.1 ® 3,-1
(€ -3,1 (D) =3,-1
What are the zeroes of polynomial x? -2x-3 ?
(A) 3k B 3,-1
(C) =8, 1 ) =3,-1
25 T g ) e 3 e fa R a € 2
A) w | B 2
c 1 by 3
At how many points docs a tangent line of a circle touch it ?
W o B 2
c) 1 m 3
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26 2.6,4.5.0,2, 1,3, 2% EEE R

A 2 B 3
i) o D)

Mode of 2, 6,4, 5,0,2, 1,3, 2 s

A} 2 B 3

€ 6 (D) -

: ¥ w
7. ufg W@ (2x-1), (3x +2) AC@ (6x - 1) T soft 51 &1, @ x

A 3 @ 1

© 2 O O

If the numbers (2x-1), (3x +2) and (6x~ 1) arc in A.P., the valuc of xis

| 1

(A) 3
) 2 D) 0
28, &% oo WHET px? 4 4x+3 =0 F O O, A p &1 H @
2 4
(A) 3 B 3
- 3
© 3 ®

Il roots of quadratic equation p.ti +4x +3 =0 arc cqual, then the value of Pis

2 4
A 3 B 3
4 3
(C) 3 (D) 3
29. %1 AN WEAIHA! & HoHo &
(A) O B 1
€ 2 (D) 4
The HCF of two consecutive numbers is
A}y O B) 1
) 2 (D) 4
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W0 1RF2,0) W g g fag R

\'l“ \!ﬁi B3) Jﬁ
() K] ) 5
Distance of the point {2, 3 ) from the ongin is
W Vo B N2
© V13 D) 5
W, ks, W mﬁ-m WYAR ?
A 6 | 7u
(C 8 | o g9a
Which term of the AP, 21,18,15, ... is0 ?
(A)  6th (B) Tth
(C)  8th (D}  9th
32 v e & R fdt fag ) comg R gt 7w § 2
L © By wi
(C)  (A) 3R (B) &R D) Tl A w T
The distance of a point in first quadrant from the x-axis is called
(A)  “.x-coordinnte (B) y-coordinate
(C) "“both (A) and (B) (D)  none of these.
33, R 2-x(x-1) & IR T PAGA &
A -2 B) 2
c 7 (D)
The product of the zcroes of the polynomial 2- x(x~1) is
(A) -2 B 2
c 7 O L
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34, Foafefoa 8 o) g wodt 2 2

‘A 175173, (O V2,¥8./18,432,...

(C) -10,-16,-2,2, ... D) 02,022, 022202222, ...
Which of the.following is an A.P. ?

A 12,54,72.73,... B)  V2,¥8.V18.¥32....

(€ -10,-16,-2, 2, ... (D) 0-2,022,0222, 02222, ..

3s.  Frafefam d W a4 d 2
(A} 2-x?+J3x B) =Sx+l

Which of the following is not a polynomial ?

A)  2-x?+J3x (B) %JHI
€ x) (D) xil
36, afe o 370 Y w Far mer Iwwt i w1 o @ dard weE R, A g o I
Hivr
(A)  0° (B) 30°
JC 45 (D)  60°

If the height of a vertical pole and the length of its shadow on the ground are

the same, then the angle of elevation of the sun is

(A) ©° B) 30°
(C} 45 (D) 60°
37/ % A 3R B 3 G TR § 6 sinA =cos B, 7T (A+B)=?
(A)  45° (B) 60°
-{er~ 90° ' (D) 30°
[ 210 ) G [7036-G u Page 12 of 24
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If A and Il are two acute angles such that sin A = cos [1 then (A« Hl = ?
(A) A5 ) oo*
<y 9 oy 30

.'t.ﬂ/ gl (4, 1) 8ite (2, 3) % aa @ g B

(Al 33 | 5
€ 345 Dy 25
Distance between the points (4, -1 jand (2,3 ) is
A 33 M V5
(€}  3J5 D) 25

9, % 4R &) fran @ sema () :2) & @ 3 Sawd ® sqea (5:3) &A@
A& e ® s
Al 4:9 B 11:12
Sy 5:12 (D) 20:9

Radii of two cylinders are in‘the mtio ( 1 : 2 ) and their heights are in the ratio

{ 5:3), then their volumes are in the ratio
(A) 4:9 (B) 11:12
i€ SN D) 20:9

40. AR A xSTAMI2FIE 7L, AxFHAL

Al 6 (B)

S 13 D) 9

If1,4, x, 5and 12 is 7, then the value of x is

A} 6 B 8
€ 13 D) 9
[210 | G |7036-G 7 Page 13 of 24
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Al 5005 % fwad s e & 7
-3 B 4
o 7

N

() 6

How many prime factors of 5005 are there ?

(A2 | 4
) 6 o 7

42 l+tan? A -?

/ IOCUEJA

A} -1 B) sec?A
€) cot’A -(Q—tan? A

41w U &z @ gt 21 om W E1 T R 10 iz A aa daeE @
(A} 126 cm? B~ 210 cm?
(C) 231 cm? (D) 252cm?

The minute ncedle of a watch is 21 cm long. The area covered by it in

10 minutces 1s
[A) 126 cm? (B) 210cm?

€} 231 cm? E (D) 252 cm?

4. fa=d (3,2 ) 3 (-3, 2) 2T smafeaa &

A I @ (B) yIW
O 3 & T 3N D) x3 & IR 3R

Both of the points (3, 2 ) and (-3, 2 ) are located on

(A} x-axis (B) y-axis
(C)  one side of x-nxis (D)  both sides of x-axis
| 210 ) G |[7036-G u Page 14 of 24
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45/ 20+ Jy =11 M 2y 24 ek

(Al x=2 =4 B) x=-2,y=-5
€ x=3,y-1 .M}~ x=-2,y=5
Solutions of 2x « Jy=11 and 2x - 4y = -29 are
(Al x=2 y=4q B) x=-2,y=-5
€] x=-3,y=1 D) x=-2,y=5
46 tan 30 sin 30 cot 60°*.cosec 30 =
o
w1 @ 1
2 " 3
o o 1
4

AT T T H T i e 216 cm? & A T b

(A) 144 cm® (B) 196 cm®
) 212em? ,,_.J,DI/ 216 cm’
If the total surface arca of a cube is 216 cm?, its volume is
(A) 144 cm? B) 196 cm’
(C) 212em’ (D) 216 cm’
a8, Fefafan & #9-@ fow i @ @ 2
(A)  Sx+2x?=x?+43 B x-x?s(x-1)
(C) Ax+3)% =3(x?-5) D) (V2x+3)P =2x2+5
Which of the following is not a quadratic equation ?
(A}  Sx+2x?=x%43 M x*-x?=(x-1p
(€ (x+3)P2=3(x?-5) O (V2x+3P =2x2+5

39,  wHM FOd T &) I & FGE B FE 9 ¢ 16 &, A IAF TH TR & QAGeH

&1 I & @m ?

(A) 3:4 B 2:3

IO 311 0 4:3
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/Fhr 1atio of the volumes of two cylinders of the same height is 9 : 16, they, “ha, _

I8 the ratio of their surface arcas ?
<N 34 m 2:3

) 3:1 (D) 4:3
50. i«'ff:ms.ﬁjfﬁ.“(,.mm314,y|ﬂmfﬂﬂiﬂmﬁw#9 ;ﬂmiri‘q:.i!

8, My @ am )

(A) 5 By~ 7
(€) 12 (D) 16
Ifp

(5. 6) is the midpoint of the line scgment AB joining the points A | 6,5
and B(4, y), then y equals to

S | 7
) 12 (D) 16
51/., T O S e s o @) wfaEm b
2
wn £ ® ¢
s |
-“.Ja 3‘ ‘Dl %
A dic is thrown, The probability of getting an cven number is
2
" 3 (B) -é-
1
€ .5 © 3
52. 96 T AW UGS T T ?
(A)  2*x3? B) 23x33
(€) 2°x3 (D) 2x3°
What will be the prime factor of 96 ?
(A)  2%x3? (B) 2¥x33
(C) 2°x3 (D) 2x3%
[210 ) G |7036-G un Page 16 of 24

BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

53, rfmlkn'léi!m&nmmﬁ?ni

4 3
Malr (B) %:r’
. ‘.1 3
€ Sar (D) -‘;!l—ur"
The volume of the sphere of radius ris
LI
L 1Y (B) %:r‘!
(C) -:j-m':l Lgrd
2 D) 3
54 (1-cos?0)(14cot?0)=
(Al 0 |\ -l
1
€ —or 1
55. o BClDE, AD: AB= AE: x % x W }
¢
E
LA D B
(A)  BD B) BC
(€] AC (D) EC
In figure BC| DE, AD: AB = AE: x, then x s cqual to
C
E
A D B
(A} BD (B) BC
(C) AC (D) EC
[210] G (7036-G un Page 17 of 24
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8 em (1o o g & stnant o RPTER 4

Fl
(Al 64 cm? (D) 100 cm

1
) 125 em? fUV/ 128 cm

The arca of the inner square of a circle of radius Bcemis

¢

(A) 64 cem? (@3 100 cm?
(€} 125 cm? D) 128cm?
57:/ AADC 1 ADEF 8 %g__g_i‘f_..g “Fﬁf"i"mﬁﬂ-“‘:‘
M 4B LE 0) ZA=Z4D
IC) Z8=4D ) D) <A=ZF
I ‘3’2 :: ‘g% in AABC and ADEF, both of these triangles will be similar if
W 2B-cE (B) LA=sD
SR i (D) ZA=Z£F

58, at Wi weieT w1 qm s &, @ 38 frefta e o T e

1Ay WA (B) T wA

€ @ gfamdn (D)  wfaaszl srean v

If a_pair ‘of lincar equations is inconsistent then the lines representing them
will be

(A} parallel (B) always coincident

(C)  always intersecting (D)  intersecting or coincident

59 % WIS @ A 8670 § S I6H HoWo 17 ¥, A TWH HoWo FFN

(A) 102 (B) &5
(C) 107 ~{br~ 510
[210]| G [7036-G un Page 18 of 24
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’ It
The product of two numbers in 8670 and their HCF is 17, then their LCM will be

1Al 102 () 85
(€ 107 oy~ 510

60, 6, 8 3T 22 41 FeRo I HoTo 9 &

A 132 @ 2:22
I€) 8:6 (o) 12:3
The ratio of the LCM and HCF of 6, 8 and 22 is
(A 132:) | 2:22
€ 8:6 o) 12:3

WvE - 4 / SECTION - B

H‘Hﬂﬁﬂm / Short Answer Type Questions
e pu——— VPP AR LA TR A
2 3% fuifea 81 15 x 2 =30

15 questions. Each question

Question Nos. | to 27 are Short Answer Type. Answer any
15x2+~30

cames 2 marks. biharboardquestionpaper.com

1. fwmzammnmaq}mu?-uq-ommfmil 2

; : 2 -
Using quadraticformula find the solutions of the equation 3x* = Ax-1=0.

A——Toa &t & 2 uw smfvta e ¥ 2
Provéthat 2 is an irrational number.

3. ufg R (k) Faga (6,-1) 3R (2,3) @ wEE }, @ faw #E ooy =0,
2

If ({ x, y ) is a point cquidistant from the ponts ( 6, -1 ) and [ 2, 3 ), show
that x-y=3.

4. % TR & HoWo 18 AN ITH! VAR 12960 & | A ITH Todo WA HL) 2

The HCF of two numbers is 18 and their product is 12960. Find their LCM.
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- 'i'"|'I‘mmimutrd'm!bik-’iﬂi--?.ﬂl.lﬂ.ll"‘“'l'J.'Jl'"'ﬁ" 2
Using the distance formula, show that the points ( 2, 5). 10, V}and (2, -,
are collincar

e e & s ) i 132 em 3 aue) Sart 25 om R, M UER @) sy

yrt @i 2

I the arcumference of the base of a cylinder in 132 cm and its height in 25 ¢y
find the volume of the cylinder

7t apc te wifig fopr ¥, free wop ¢ wwn k) fog wi fs

At =247 2

AMUC is an isoscles triangle whose angle C is a nght angle. Prove (hy,

A? «2AC3.

afz -9 at amn0-bceos0 gy ury yw Wiy ;
8 und b : asin0 + bcos0 ; <

If tanV = 2, then find the value of asin0-bcos .

b asmnl+ bcos0
9 fawrl & oF an 3oEn Am ¥ A wd sm @ afawm e w1 2
Three coins are tossed together. Find the probability of getting three heads.
|0 Fesffm 32 w40 T :

Find the méan of the following distnbution :

Cluss- 40-50 20-60 60-70 70-80 80-90 90-100
interval
DUCIG)H
: 15 25 14 12 8 6
Frequency
I-I fﬂ?ﬁi rm. tnn48'lnn23'mn42-m67._l' 1

Show that wun48°*tan23*tan42*tan67* = | .
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12, feg aifw s R i
o fad P13,2),Q(-2,-3) 3 R(2.3) 7% wrwm fop &t

Sh h =
SHow that the points p ight angled
— (3.2),Q(-2,-3)and R(2, 1) make a g

13.  fug #1 fis Losino |

T+ aing = (%c0-1an0)?, 4
Prov 1= nino
Ye Ihlﬂ m'(“ﬂ‘lmulg-

4. h‘i" ABC# \I'-Fﬂ}ﬂ ABTG AT Q) h D.)h‘t E UYL T WF ¢ fw DE] BC.
uf{ AD‘(?.‘““I' Dﬂ-(31*4l. AB-(S:_Z] m EC-SII H} X aﬂ ﬂﬂ
Forared | 2
In AABC, D and E arc points on the sides AB and AC respectively such that
DE|BC.If AD w(7x-4), DB = (3x+4), AE =(5x~-2)and EC = 3x, then find
the value of x.

15. W 6x? - 3-74 %mmﬁmmﬁmmmﬁzmliw:ﬂ
T W Ay 2
Find the zeroes of the polynomial 6x®-3-7x and verify the relationship
between the zeroes and the coeflicients.

16. 1-§ﬁ§%mﬂnﬁ| 2
Convert 448 in the form uf-g—.

17. W PTG 7x-2y = 3 R 220- 3y = 16 W 7@ A fafu @ g AL 2
Solve the system of cquations 7x-2y=3 and 22x-3y=16 by cross
multiphication method.

18. w&m&vﬁm7ﬁw%m9ﬂw%t.maaaﬁqﬁmmmﬁ: 2
Il the seventh term of an A.P. is % and its ninth term is % find its 63rd term.
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4 .
1o @ gl w aler 4 ¥ e Tk apd ®am ﬁkn:mﬂm.,.,“ :

The dilference of two numbers is 4 and the difference of thewr reciprocals 5 4
2]

Find the numbers

20 B W wrE oy 5

Scon’ 60° « Aacc? w‘—JtunJ45'_
sin’ 30° » cos® 30°

Evaluate the following :

Scoa? 60° s 48cc?30° - tan? 45¢
sin? 30° + cos? 30°
21 fag &t & g st fom T fag or diidt nf et tan, & feg wtam s o
frm wr gl ]
Prove that, the tangent drawn at a point of a circle is perpendicular to its rad;y,
passing through the point of contact.

22, U& UGAER U &1 87w WA &1, Pres oftmm 360 m 2

Find the arca of a semi-cirgular park if its perimeter is 360 m.

21 % TE #1 0F R FEA ¢, @ A oE ) dem w o g ¥R F) wiewa s
w1 2
Two dice are thrown together, then find the probability of getting sum of two
numbers is'8 on both dice.

24, Frafefan @z &1 agers v w1

e :
Find the mode of the following distribution :
- HATT
Class. | 80-85|85-90 | 90-95| 95-100 | 100-105 | 105-110 | 110-115
interval
Lo
33 27 85 155 110 15 15
Frequency
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5

\.‘/

a7

UK A& e ) o s o e St 12 cm K1 VW % T erred Frere
2

Find the curved surface arca of a cone whose radius of base is 5 cm and height
i 12 ¢m .

{férs faranean e @ o @ 1651 T 2002 91 Howo FraTE
Using Euchid's division algorithm, find the HCF of 1651 and 2032

(8,2)k 2
Find the centroid of AADC whose vertices are (<1,0). (3, -2)and (8,2)

¥id 79I U¥1 / Long Answer Type Questions

mmuﬂauﬂduﬂuhnﬂﬁwdlﬂ‘tmhmmtm

8 3w fauifem &) 4x8+20
Question Nos 28 to 35 are Long Answer Type. Answer any 4 questions Each question
cames 5 marks 4«5=20
28 IV g 3y -y w2 @G- Iy « 6 W OTE W 3T gE W 5

29

Draw the graph of pair of cquations 3x -y = 2 and 9x - Jy = 6 and solve them.

rE aguifacg o & fion @ R W 0w 8 m B wE & fom st wE @
NAVEL G g 300 M a5t b1 wpdfaen v @ Sard sl < v & g
&} giham w1 5
When viewed from the top of a multi-stoned building, the angles of depressions
of the top and bottom of an 8 m high building are 30° and 45* respectively. Find

the height of the multi-storied building and the distance between the two
buildings.

30 fex * & fawi go & ofom awia wpja, wwada e 5
Prove that the paraliclogram circumscnibing a circle is a rhombus.
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13

14

35

du et 4 0w g e ang @) Al e B a4 e gy n s
¥g o R a4 skt p @) wh s e el

"
A

Five yCarn ago, A was thpce as {Jld as [ and ten yrars Iﬂlfr A 'h-ﬂn b l'.'l"t
old ax H What are the present ages of Aand 1?7

|

g ot fw {comsec A -ninA)(secA-coa A )= tan A  cot A

e

Prove that (cosec A-anA)(sec A~ cos A ) » ————o
tan A« cot A

mfm,amt’lﬁmﬂhﬂﬂ.&ﬂ-km.ﬂc-ﬁcmmzm-whh}
?%&qzﬁmdhmﬁm‘mﬁm‘m#ﬁ%ﬂﬁl ,I

Draw a tnangle ABC in which AB = 5¢m, BC = 6 cm and ZABC = g0 e
n,

1 ,
construct a tnangle whose aides arce 3 lmes the corresponding sidey of AABC

wmmﬁwtmmmmmntwﬁzamdeQW

mmkrﬂmt:ﬁwzlmmsﬁiﬁmmHﬂhmmﬁ
WY WZ &1 U AN i 69T s #)

b
A motor boat covers 30 km upstream and 28 km downstream in 7 hours Alsa

it covers 21 kmoupstream and come back in 5 hours Find the speed of 14
motor boat in sull water and that of the stream. |

@frgnanc# ¥ R 4 em X TN T v g A pe w

Wh:;ﬁqm BC #faR pEm favfaa ol b, 6 cm ma g

AL T AC ® FURG Y #1) 3
A

A triangle ABC is drawn 1o circumseribe a circle of radius 4 cm such that th

scgments BD and DC into which BC is

lengths 6 cm and B cm respectively

om t! ‘F'TS-"'T

C
divided by the point of contact D are of
Find the lengths of the sides Al and AC

faER &t & ae 3z e siifhfaas

T OUZ, Aiss Uue, size-6l,
e — TG, SiieH, it Sie, de-300 3T

e wdien wea ua HR & BT...

16
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